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Introduction
In the WF [1],  it was agreed to investigate the performance of the testcases of 8.3.1.1(FDD) #2 and 8.3.2.1A(TDD) #2. in the next RAN4 meetings since there were indications that there is a problem to use the 2Rx duplication in this case. 
Discussions and Results

Below are simulation results for the section 8.3.1.1, Test#2 with 2Rx, 4Rx with duplicated paths (Type 2 UE test) and 4Rx. 
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Figure 1: Simulation results of FDD testcase in 8.3.1.1 test#2 with 4Rx using eIRC



Below is also the results from the corresponding TDD testcase, 8.3.2.1A, Test2. 
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Figure 2  Simulation results of TDD testcase in 8.3.2.1A test#2 with 4Rx using eIRC

The collected results of these simulations at 70% of the maximum throughput for each of these testcases are shown in Table 1. 

Table 1 Simulated SNR at 70% of the Max throughput for 8.3.1.1 and 8.3.2.1A with 2Rx, 4Rx with duplication and 4Rx
	
	2Rx
	4Rx with duplication
	4Rx

	8.3.1.1#2
	17,9
	14,9
	11,2

	8.3.2.1A#2
	17,8
	14,4
	11,1





Observation 1: The simulated results indicats that for both FDD and TDD the 4Rx with duplicated paths has a performance 3 dB better than the receiver using 2Rx. Thereby it seems that the testing of the legacy requirement with duplicated paths works when applicability rule in 8.1.2.6.1 are applied. 

Conclusions
Observation 1: The simulated results indicats that for both FDD and TDD the 4Rx with duplicated paths has a performance 3 dB better than the receiver using 2Rx. Thereby it seems that the testing of the legacy requirement with duplicated paths works when applicability rule in 8.1.2.6.1 are applied. 
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